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Problème N°2 : Téléphérique de la Vanoise (extrait E3a PSI 2014) 

Q 1 : On est en régime permanent : 
𝑑𝐸𝑐(𝐸 𝑅0⁄ )

𝑑𝑡
= 0 

Q 2 : 𝑃(𝑒𝑥𝑡 → 𝐸 𝑅0⁄ ) = 2𝑃𝑚 − 𝐹𝑣𝑒𝑛𝑡𝑉0 cos 𝛾 − 𝑀𝑔𝑉0 sin 𝛾 

Q 3 : 𝑃𝑖𝑛𝑡 = −𝑓𝜔𝑚
2

 

Q 4 : 𝑃𝑚 =
1

2
(𝐹𝑣𝑒𝑛𝑡𝑉0 cos 𝛾 + 𝑀𝑔𝑉0 sin 𝛾 + 𝑓 (

2𝑉0

𝑘𝐷
)

2
) 

Q 5 : 𝑃𝑚 = 514 𝑘𝑊 < 530 kW 

Q 6 : 

𝐸𝑐(𝐸 𝑅0⁄ ) = 2 ×
1

2
𝐽𝑚(𝜔𝑚)2 +

1

2
𝐽𝑝𝑚(𝑘𝜔𝑚)2 + 5 ×

1

2
𝐽𝑑 (𝑘

𝐷

𝑑
𝜔𝑚)

2

+ 50 ×
1

2
𝐽𝑔 (𝑘

𝐷

𝑑𝑔
𝜔𝑚)

2

+
1

2
𝑚 (

𝐷𝑘

2
𝜔𝑚)

2

+
1

2
𝑀 (

𝐷𝑘

2
𝜔𝑚)

2

 

𝐽 = 2𝐽𝑚 + 𝑘2𝐽𝑝𝑚 + 5𝐽𝑑 (𝑘
𝐷

𝑑
)

2

+ 50𝐽𝑔 (𝑘
𝐷

𝑑𝑔
)

2

+ 𝑚 (
𝐷𝑘

2
)

2

+ 𝑀 (
𝐷𝑘

2
)

2

 

 

Q 7 :  

𝑃𝑖𝑛𝑡 = 0 

𝑃(𝑒𝑥𝑡 → 𝐸 𝑅0⁄ ) = −𝑘𝐶𝑓𝜔𝑚 − 𝑀𝑔𝑉0 sin 𝛾 

𝜔̇𝑚 =
1

𝐽
(−𝑘𝐶𝑓 − 𝑀𝑔

𝐷𝑘

2
sin 𝛾) 

Q 8 :  

𝑎 =
𝐷𝑘

2
𝜔̇𝑚 = −

𝑉0

𝜏
 

𝜏 = 9,54 𝑠 

 

 

 


